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0	ratings0%	found	this	document	useful	(0	votes)160	viewsThe	document	contains	examples	of	calculating	stresses	in	different	structural	elements	like	wood	posts,	concrete	footings,	steel	plates,	bolts,	and	structural	members.	It	provides	the	equat…AI-enhanced	title	and	descriptionSaveSave	Simple	Stress	1_shearing	and	Bearing	Stress	(Sampl...	For
Later0%0%	found	this	document	useful,	undefined0	ratings0%	found	this	document	useful	(0	votes)160	viewsThe	document	contains	examples	of	calculating	stresses	in	different	structural	elements	like	wood	posts,	concrete	footings,	steel	plates,	bolts,	and	structural	members.	It	provides	the	equat…AI-enhanced	title	and	description	We're	getting
everything	ready	for	you.	The	page	is	loading,	and	you'll	be	on	your	way	in	just	a	few	moments.	Thanks	for	your	patience!	In	order	to	determine	the	Average	Shear	Stress	in	the	bolt,	again	treat	the	bolt	as	a	Free-Body	Diagram.	Due	to	the	symmetry	of	the	connection,	only	the	top	(or	bottom)	section	of	the	bolt	need	be	analyzed.	From	the	FBD,	the
Average	Shear	Stresses	in	the	bolt	is:	tS	=	P/2	pd2/4	=	2.5	kN	p(10	mm)2/4	Page	2	»	4.1	Axial	Members					•	Uniform	Axial	Member					•	Discretely	Varying	Axial	Member					•	Continually	Varying	Axial	Member					•	Displacement	Method					•	Examples	»	4.2	Pressure	Vessels					•	Cylindrical	Pressure	Vessels					•	Spherical	Pressure	Vessels					•
Deformation	of	Pressure	Vessels					•	Examples	»	4.3	Energy	Methods					•	Energy	Methods					•	Examples	»	4.4	Fasteners	(in	Chapt.	14	in	the	text)					•	Bearing	Stress					•	Shear	Stress					•	Examples	»	Modules/Tools/Tables	»	Practice	Problems					•	Problem	4-1					•	Problem	4-2					•	Problem	4-3					•	Problem	4-4					•	Problem	4-5	Page	3	»	Uniform	Axial
Member	In	Chapter	3,	we	introduced	an	AXIAL	MEMBER	of	length,	L,	subjected	to	a	constant	tensile	force,	P,	acting	through	the	centroid	of	its	cross-sectional	area,	A.	The	following	terms	were	then	defined	for	the	Axial	Member:	e	=	D	L	;			s	=	P	A	;			s	=	Ee	Combining	the	above	we	get:			Page	4	4.1	Axial	Member	Examples									Ex.	4.1.1	|	Ex.	4.1.2	|
Ex.	4.1.3	Example	4.1.1	Given:	A	stepped-bar	(areas	A1,	A2)	made	of	two	materials	(moduli	E1,	E2),	acted	on	by	forces	2W	(upward	at	Pt.	B)	and	W	(downward	at	Pt.	E).	Req'd:	Total	elongation	of	the	bar,	Dtotal.	Sol'n:	Step	1.	Equilibrium	-	Solve	for	forces:	Since	loads	are	only	vertical	forces	acting	along	the	same	line	of	action,	the	reaction	force	at	the
ceiling	is	R=W	(downward	at	Pt.	A).	The	other	forces	are	shown	at	right.	Bar	broken	up	into	lengths	with	constant	force,	area	and	modulus.	Step	2.	Elongation/Force	Relation:	To	solve	for	elongations,	break	up	the	bar	into	lengths	over	which	all	the	values	(force,	area	and	modulus)	are	constant.	The	top	length	of	the	bar	AB,	has	length	a,	area	A1,
modulus	E1,	and	carries	force	Pa	=	-W	(compression).	The	change	in	length	of	AB	is:	Since	AB	is	in	compression,	it	shortens:	Da


